ApxaHrenbck (8182)63-90-72
AcTtana (7172)727-132
AcTpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropon (4722)40-23-64
BpsiHck  (4832)59-03-52
BnapuBocTok (423)249-28-31
Bonrorpap (844)278-03-48
Bonorpa (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuHbypr (343)384-55-89
WBaHoBo (4932)77-34-06

WxeBck (3412)26-03-58
WpkyTck (395)279-98-46
KasaHb (843)206-01-48
Kanunuurpap (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
KupoB (8332)68-02-04
KpacHopap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04
Nuneuk (4742)52-20-81

Kuprusua (996)312-96-26-47

MarHutoropck (3519)55-03-13
MockBa (495)268-04-70
MypmaHck (8152)59-64-93
Hab6epexHble YenHbl (8552)20-53-41
HwuxHuin Hosropop (831)429-08-12
HoBoky3Heuk (3843)20-46-81
HoBocubupck (383)227-86-73
Omck (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04

MeHsa (8412)22-31-16

Poccua (495)268-04-70

Mepmb (342)205-81-47
PoctoB-Ha-floHy (863)308-18-15
Pasanb (4912)46-61-64
Camapa (846)206-03-16
CaHkT-MeTepbypr (812)309-46-40
CapartoB (845)249-38-78
CeBactononb (8692)22-31-93
Cumdpepononb (3652)67-13-56
CmoneHck (4812)29-41-54
Coumn (862)225-72-31
CraBpononb (8652)20-65-13

Kasaxcran (772)734-952-31

https://celette.nt-rt.ru || cfe@nt-rt.ru

Hpnnannemnocn« K CUCTE€EMaM BbIPpABHUBAHUA

The basic system performed all over the world powerfull tower, it still again a good choice for
commercial vehicle.

Only, metric and electronic measuring system can be associated.

INGROUND FRAME 6,5X4,106

ON-GROUND FRAME

IN-GROUND FRAME

ON-GROUND FRAME

CADRE 5,5MX4,1M (NOYE)

IN-GROUND FRAME EXTENSION

ON-GROUND FRAME EXTENSION

IN-GROUND FRAME EXTENSION

ON-GROUND FRAME EXTENSION

CADRE 6X4 (NOYE)

CypryT (3462)77-98-35
TBepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbAHOBCK (8422)24-23-59
Ydba (347)229-48-12
Xa6apoBck (4212)92-98-04
YenabuHck (351)202-03-61
Yepenosey (8202)49-02-64
ApocnaBnb (4852)69-52-93


https://celette.nt-rt.ru
mailto:cfe@nt-rt.ru

Add to Cart rh f_.ﬂ Add to Cart

EXTENSION 6X4 (NOYEE) ANCHORING CLAMPS ON RAILS 5000

< 5

PAIR OF SILL CLAMPS PAIR OF TUBES

é
CH

TUBE,LENGTH 1,90 M REINFORCEMENT TUBE 1,00 M
p—
ON-GROUND ANCHORING ENSEMBLE D'ANCRAGE AU SOL
Di .
JEU DE 2 CHANDELLES TYPE USA JEU DE 2 CHANDELLES+ROULETTES
p— —



BLOC D'ANCRAGE NU (EMBALLE) BLOC D'ANCRAGE NU

BLOC D'ANCRAGE MOBILE CHAIN ANCHOR

BLOC MOBILE POUR CHAINE BLOC MOBILE POUR CHAINE
(EMBALLE)
PAIR OF STANDS (Maximum load = 2T) JEU DE 2 CHANDELLES

ad

PLAQUE D'ANCRAGE RAM FOOT AND CHAIN ANCHOR




ADAPTATION PARTS

3 POINTS COMPOSITION 1 WORK BAY

3 POINTS COMPOSITION 3 WORK BAYS

s
_-rﬁlw ':

B

AI';—,:‘

COMPOSITION CSK 10T (EMBALLEE)

COMPOSITION CSK. 10T(EMBALLEE)

COMPOSITION CSK (EMBALLEE)

ANCHORING COMPOSITION

B B A A

AT R YL

CAT.6004 (4m)
3 POINTS COMPOSITION 2 WORK BAYS

Ch5.2521

-

3 L!’?

ENSEMBLE "3 POINTS" 4 POSTES

ouszsua

COMPOSITION CSK. 10T(EMBALLEE)

COMPOSITION CSK. 10T(EMBALLEE)

KIT FOR MULTIPLE PULLINGS



KIT FOR MULTIPLE PULLINGS

3 POINTS ANCHORING KIT

HYDRAULIC SET

3 POINTS ANCHORING KIT

DYNO 2000 PULLING TOWER

COMPOSITION CSK (EMBALLEE)

es
SR

e

HYDRAULIC SET

!!M’/éﬂ

»

3 POINTS ANCHORING KIT

HYDRAULIC SET

DYNO 2000 PULLING TOWER



ZINC SCREW HM 6X20 CL8.8

ZINC SCREW HM 10X70 CL8.8

VIS HM 14/150X190 CL8.8

ZINC SCREW CHC 8X25 DIN 912

(——

ZINC SCREW HM 10X50 CL8.8

S

ZINC SCREW HM 12X30 CL8.8

el

ZINC SCREW HM 20X80 CL8.8

ZINC SCREW CHC 8X50

(Ee——




ZINC SCREW CHC 8X60

——

VIS TFHC 8X16 CL10.9 DIN 7991

st

NUTS HM4 CL8.8

O

NUTS HM6 CL8.8

NUTS HM10 CL8.8

NUTS HM12 CL10.9

ZINC SCREW CHC 8X90

l

OUTSIDE CIRCLIP Diam 12 mm

Q

NUTS HMS5 CL8.8

NUTS HMS8 CL8.8

NUTS HM10/125

NUTS HM12/125



NUTS HM12/150

O

NUTS HM14/150

O

NUTS HM18 CL8.8

NUTS HM24 CL8.8

NUTS HM39 CL8.8

SECURITY NUT M10

TIGE DE SCELLEMENT 16X145

NUTS HM14 CL8.8 ZINGUE

NUTS HM16 CL10.9

NUTS HM24 CL10.9

O

WHEEL SUPPORT

=

BRIDLE BPL on RAIL 5000

i

CHEVILLE SPIT MEGA



RAIL 1.7M

»

RAIL 1.9M

RAIL 2M ENTAILLE A SOUDER

RAIL 3M ENTAILLE A SOUDER

»

RAIL 4M

ECLISSE

RAIL 1.8M ENTAILLE A SOUDER

>

RAIL 2M

RAIL 3M

RAIL 3.5M

v

RAIL 4M ENTAILLE A SOUDER

PUITS D'ANGLE 2 RAILS



PUIT D'ANGLE 2 RAILS

ACCESSORIE for INGROUND FRAME

VERROU DE BRIDAGE

ANCHORING CLAMPS for Floor System
5000

Y
“3&4 PR

- o

il

g

SQUARE CAP

COUVERCLE

WEDGE

MONTANT DE PINCE FIXE

CYLINDRICAL CAP of Diam 28

SQUARE CAP of 40




OILTINof1L

POMPE HYDRO POUR TOUR DYNO A
PIED

MORS 20X10 LG 150 (ZINGUE)

PIN diameter 10 + WIRE

OILTINof 5L

HYDROPNEUMATIC PUMP DISTANCE for
TOUR DYNO 2000

RESSORT COMPRESSION

WY

BROCHE diam14:B77B+CABLE
B70A+GOUP.




PIN diameter 18 + WIRE UNCLOGGING CARD

INGROUND FRAME (6 x 8) - 2 Working Bay = FILTERING CARTRIDGE D225 WITH SEAL

5

Car Body Floor System CELETTE SYSTEM
5000

NUTS HM12 CL8.8 SECURITY NUT M6

SECURITY NUT M12 SECURITY NUT M14




SECURITY NUT M16

RAIL 0.8M

RAIL 1M ENTAILLE A SOUDER

ApxaHrenbck (8182)63-90-72
AcTtaHa (7172)727-132
AcTpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropop (4722)40-23-64
BpsHck (4832)59-03-52
BnaausocTok (423)249-28-31
Bonrorpap (844)278-03-48
Bornorga (8172)26-41-59
BopoHex (473)204-51-73
EkaTtepuHGypr (343)384-55-89
WBaHoBo (4932)77-34-06

WxeBck (3412)26-03-58
WpkyTck (395)279-98-46
KasaHb (843)206-01-48
Kanunuurpap (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
KupoB (8332)68-02-04
KpacHopap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04
Nuneuk (4742)52-20-81

Kuprusua (996)312-96-26-47

MULTIPLE PULLING KIT 10T

RAIL 1M

RAIL 1.5M

Marnutoropck (3519)55-03-13
MockBa (495)268-04-70
MypmaHck (8152)59-64-93
Ha6epexHble YenHbl (8552)20-53-41
HwxHuin Hoeropop (831)429-08-12
HoBoky3HeuUk (3843)20-46-81
HoBocubupck (383)227-86-73
Omck (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04

Mensa (8412)22-31-16

Poccua (495)268-04-70

Mepmb (342)205-81-47
PocToB-Ha-[loHy (863)308-18-15
PasaHb (4912)46-61-64
Camapa (846)206-03-16
CaHkT-lNMeTepbypr (812)309-46-40
CaparoB (845)249-38-78
CeBacrtononb (8692)22-31-93
Cumdpepononeb (3652)67-13-56
CmoneHck (4812)29-41-54
Coun (862)225-72-31
CraBpononb (8652)20-65-13

KazaxcTaH (772)734-952-31

https://celette.nt-rt.ru || cfe@nt-rt.ru

CypryTt (3462)77-98-35
TBepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbAHoBCK (8422)24-23-59
Ydpa (347)229-48-12
Xa6aposck (4212)92-98-04
YenabuHck (351)202-03-61
Yepenosey, (8202)49-02-64
ApocnaBnb (4852)69-52-93


mailto:cfe@nt-rt.ru
https://celette.nt-rt.ru



